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Section-A
Q.4 Choosethe correct answer for each from the given options:
{) In ellipse, the length of samblatus rectum is:

hi a. Z'b' ‘
@ b) 5 (e) = (d)None of these
i Two circles are said to be cricle if they have same:
{a) Diametesr (b) Radius () Contre {d) Origin

i

@e"+c (b}’ "3 te (o)-e* % +e (d) ek

M) My»2ginx+3ooaxthen,

W j‘::; dx =
)

U 1 d‘

(l)%}-ﬂ (b)y-%;-o (c)v+-;j=0 (d)None of these
V) Theminimumvalue of f{x) =" —x-2 |s:
T ® ©F  (@Noneofthese
Vi)  Theline latus recium is always parpendicular to:
(2)Axis of conlc {b) Directrix {c)Tangent (d) None of these
wil) yeommdxai@—yp  iskiownas.
(@) Slopae intercapt form (B) Two Intarcept form
(c} Perpendicutar form (d)None of these

ity Jo"(dnx+coax)dx =

{A) etaimsc (b) &" cosxte
(¢)~e"simx+ o (d) —&* aoux+o
ix)  Ifthe hyperbola ks then foui be,
{a) (b)  (0)Origin (d) Nono of these
) Thavector with double the lenght of 3i - 4] 2k Is;
() 214 By + Ak (b 21+ 6] + 4k (©)01-8]+ 4k (_ (d)3-4)+ 2K
1) Which of the following is not o function?
(0){(3,2),(4,8),(1,4)) (b){{2, 7).(3,8),(2, 1)) Ob .
(0){(2.2),(4,5),(6.7)) (o) {(2.7).42.8).(4. 7)) 7/
Ea; Tha ratio of mid point is: \9/’
(a)2:3 (b)a:3 (0)3: 2 (d) Not possible (@)
M) Tho pairof lines aa ax + Zhxy + by = 0 and if a = -b then lines ars: ; )
(n) collinpar (b) Paraliel (0) Perpendicular (d) Col . @
&lv) [oonzydy -2 O’O
1 1 , .
(a)-ain 2y o) eidy (¢) Zai2y  (d)Noneolthese /O'{‘
fv)  Twotangents can be drawn to the circle, if a pont Is:
(a)Insidethecircle  (b) Outside thecircle (c)One the circie
(D} None of these

b My =i




(@) comxr (b) 28inx (o) 4% con x (d) 2% sin 2%
1) It the foot of parpendicular form the origlon of & staright (ine s t (3, -4) than the
uation of kno [s:
{0)3x-4y =25 (b)3x-Ay+26=0  (C)Ax+2y=25

(d)dx-2y+26=0
o 2008 48l
i) cu’ :m: %
1 5 10
&) 3 (b) 5 (o)—a- (d) None of thase

[xix) Whoseocentreis( 3,0)? §
@X Ty +ox=7=0 )K" +y —6x=T=0
)€ +y ~hGy+7=20 (el) Neana of thesn
xx) &% f8ilm)- ;q;: (comi=?
(a)2cosx (b)2sinx )0 (d) None of these
Saction-8

ote! Solve any TEN of the following questions. Each question carries 05 marks.
2 Define Even funclion and Odd function .State whether given function are even, odd
nelther {1 1(x) = nln x cos x () Py = x4

3 Evaluate: s 30" =2¢"" -3

4 Find the ratlo In which orlgin is the point of division of end points (3,4) and (-6.-8) of
straight line, Also find squation of this line,
6 Findthe altitude through the vertex A of the tringlo A(4, 7), B(2, -5) and C(-8,1).

dy - ’1- CooN
6  Find ax’ My = Tan v

dx - a
Fing o/ 0 @ Tnym sty
A xel
1 X__

8  Find lhe extiy : of e 'unclia\x I{x)~
9  Fory=In&k i Vx| o' ) provethat =4 -
g i % Ji va’

Q
10 Solve: Y= 1-°°wa¥m=§ O,OL
7

dx aly
.
1 Fualuata: [X70¢ - 7dx

7,
112 Finathe distance Hatwoen Ina Centres of two circie, O
WY =2x4By= 10wl gnd X +Y =Bxedy=44= s

4 ’
A3 Find the sccentrcity of hywprbots —’5; ~1,- whose major axia ia half of its lllllO,
rectum, o R b A O

A4 Solve:(axb) & xa) m.-zlyai¢u,bul-zjokmuc-lom-au. /O'{‘

Section-C

ote! Solve any THREE of the following questions.

16{@): Given fuur points in & plane A(1, -2), B(2. 1), (3, 2) and D(-2, 3).. Fidn the resoulution
ofapy Inthodirectionof aa and a6,

) Find tha distancs between foci of sllipse. 9% 411" =117

.16(a): Solve by first principle method on fix) = Tosvx

) glndﬂwewatbmdmmandmmummepoml(S,B)blhemmY-!3x~

.17(:);Flmmomoommoﬂnemnlelonmdbyﬁnﬁtm.x-3y-2=0.‘x+y-6=o
and Bx-3y | 20, g~y

b) Fﬂdmeamabbveﬂnx-mdsytﬁmx,auo.bng

18(a): Show that the sogments joiningthe mid pionts of any two sides of a rangle is
paratiol to the third side and eugal to one half its length, ’
b) Find the approximate value of cosew 29,



